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BUSE KP10A KP10B KP10V-02/04 KP10P-02/04
0.6 MPa ——
N _—— _
-101.3kPa —

SERNEE -0.1~0.6 MPa 0~-101.3kPa 0~0.6 MPa
iiEE 3 1.5 MPa 0.6 MPa 1.5 MPa
BARE ZER 0 FEBERE - RATRME
EBER 12~24VDC+10%  EHIEE<10% 10.8 ~ 30V DC ( BERKIE(E )
RARRAER 5~40 mA <80 mA
HEBER - <10 mA
AEREEERE <5V NPN<0.8V,PNP<0.8V
RER <1mA R
FARASH RAEEN 2 [EES : ON BRIEB N 2 RERS] : OFF NPN =t PNP
& AR RERAE i =
BAFREAN HEshEA%E
BERE +1%FS.
FE= <4%FS. <3%FS.
R FERF #1ms
ENERETIE JERBAIE : ON

EEZ P40

BERE EjfF : 0~ 60 °C * (&7 : -20 ~ 70 °C (KB RAEIMRRT )
fitigsE BERE ENER{RTF : 35 ~ 85 % RH (#E/KEE )

fit4&ED EIRIE1.5mm = 10G > 51 94 10 Hz~55Hz~ 10 Hz * X Y » Z GBS AE 2 /i

it 980 m/s? (100 G ) X+ Y » Z BEHFAE 3K
TR +3%F.S. Lk8®22ERE 25 °C (0~ 50 °CRESHER )
BERIE R4 : @4 mm ; R6 : @6 mm ; F1:R%, M5; F2: NPT%, M5 ; F3: G¥% (BSPP ), M5; M5 : M5 x 0.8
TIEHFRE @2.6 TSk PVC - 24 AWG ( 0.22 mm?) - 2 /% @2.6 it PVC - 26 AWG ( 0.15 mm? ) - 3 /%
22 (B8 3ARMNER) #) 50g
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V: &JF (0~-101.3kPa)
P IEJE (0~0.6 MPa)

| wmmm : | s/ 0

02 : NPN & 7e[ 1 3M BAR
04 : PNP 84 C : M8 3Pin A8
BERE R4 R6 F1/F2/F3 M5
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F1:R%, M5

EEOR R4 : @4 mm R6 : @6 mm F2 :NPT%, M5 M5 : M5 x 0.8
F3:G% (BSPP ), M5
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(3) @ (-)

1 3 (4) T

KP10[] - 02, 04 - F1, F2, F3
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Hex flat : 10mm

KP10[] - 02, 04 - M5
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{ )L Hex flat : 8mm
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(3) & (-)
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| KP10 =25 wommms s

* {ERRSME - ATEERAGEESRER
= BEF5/]\ 1 26 x 10 x 10.4 mm
= RERAEE -

SERLEE (-100 ~ 100 kPa)

HAE (-101 ~ 500 kPa)

{KEE (0 ~100 kPa)

B& (0~-101.3 kPa)

IEE (0~1.0 MPa)

1%/E S1 (0 ~10kPa)

%/Ek S2 (0 ~5kPa)
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1.0 MPa ——
0 -J---==——— | e |- __.__.____.__..__ - ..-..-. R JRp—
-101.3kPa —— - L
TR EE 0~10kPa 0~5kPa -100~100kPa | 0~100kPa | 0~-101.3kPa | -101 ~500kPa | 0~ 1.0 MPa
[} 20 kPa 0.2 MPa 1.5 MPa
HARE 7o 0 FREEAR M RATAME
ESHEES) 12~24V DC (5 % JERKIEE )
HEBER <15 mA <10 mA
1~5V£1%FS. [1~5V£15%FS.
pasl *’E LI\ ~ 00 453 00
FRIEAEL R JESNE £ 05 % FS. || BT £1 % FS. 1~5V+1%FS./B#&MH +05%FS.
B =30 IP40
BEE&RE F)E:0~50°C {277 : -20 ~ 70 °C (KT LARLEKRTT )
i IRIE FAEEE BERIRTE : 35~ 85 % RH (/K5 )
Mi#RED EIRE1.5mm =L 10G » T 1 94 10Hz~55Hz~ 10 Hz » X Y » Z GBS A 2 /N6
it 980 m/s2 (100 G ) X * Y » Z BEHAE 3 ]
TR +3%FS.(0~50°CREHER) +2%FS.(0~50°CEEHEN)
BEEORK R4 : @4 mm; R6: @6 mm; F1:R%, M5; F2: NPT%, M5; F3: GY% (BSPP ), M5; M5 : M5 x 0.8
BIRHUNG @2.6 il PVC - 26 AWG ( 0.15 mm?) - 3 /&%
E8 (853 ARMNER) #1509
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26 " 12~24v & 2E " 12~24V
IDC (-) B2 IDC (-) B2
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A : [Ey)
B 0 kPa 10 kPa ERYE  -100 kPa 100 kPa
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1R 0 kPa 1.0 MPa
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L : 1K (0~ 100 kPa ) S2 : #4E (0 ~5kPa) ' I BEOK
e -
V:&FE(0~-101.3kPa) I g AERY R4 o4 mm F2:NPT% M5
01+ Andlog B (1=5V) F s s ousos
1 RY%, : x 0.
| R<E
4 N
KP10O -01-O0-C NEEIERE TS TR
26

E—

(1) 7@ (+)

({ |
10 E@{::%] (3) & (-)
150 - (4) 2& (Analog out)
. J
KP10J - 01 - R4 KP10J - 01 -F1, F2, F3
)l )) = 10.4 i =
31.4 248 3000
Hex flat : 10mm
15 -
o4
KP10[J - 01 -R6 KP10J - 01 - M5
] ) = | ) =

T T 22 ‘
28.9 \L .
17.3 Hex flat : 8mm

26 BEAI : mm

17



